Seat No.:

Enrolment No.
GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGG.- IIT"* SEMESTER-EXAMINATION - MAY/JUNE- 2012
Subject code: 335402
Subject Name: Financial Accounting-1I
Time: 02:30 pm - 05:00 pm

Date: 29/05/2012

Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic
Q.1 Bhatt and Pandya are partners sharing profit and loss equally. Their 14
Balance Sheet as on Dt. 31-12-2010 was as under:
Balance Sheet
Liabilities Amt.Rs. Assets Amt.Rs.
Capital Accounts: Building 2.00,000
Bhatt — 2,00,000 Plant & Machinery 1,00,000
Pandya — 2,00,000 4,00,000 | Stock 80,000
Sundry Creditors 80,000 | Debtors 90,000
Bank Overdraft 20,000 | Cash on hand 30,000
Total 5,00,000 Total 5,00,000
They admit ‘Mehta’ in Partnership on 1st January, 2011 on the
following conditions:
1. ‘Mehta’ will get 1/5th share in profits and he brings Rs.1,00,000
in cash as his capital
2. ‘Mehta’ brings Rs.50,000 for goodwill which will be withdrawn
by ‘Bhatt’ and ‘Pandya’.
3. Land and Building is to be appreciated up to Rs.2,50,000/-.
4. Plant & Machinery is to be depreciated by 10 %.
5. Stock is to be valued Rs.1,00,000.
6. Provision is to be made 10% for bad debts reserve on debtors.
Prepare Profit and Loss Adjustment A/C, Partners Capital Accounts
and Balance Sheet of the New firm.
Q.2 (a) Explain Partnership Deed in detail. 07
(b)  Write short note on Profit & Loss Appropriation Account 07
OR
(b) Explain provisions of Partnership Act, 1932 07
Q.3 On 1* January, 2010 Ram and Shyam enter into partnership 14
contributing Rs.60,000 and Rs.40,000 respectively and decided to
share profit & losses in the ratio of 3:2. Interest on capital is to be
allowed at 8 % p.a. and Interest is to be charged @10 % p.a. on
drawings. During the year Ram withdraw Rs.10,000 on 1-4-10 and
Shyam withdraw Rs.5000 on 1-7-10. Profit for the year ending on
31sr December, 2010 before the above mentioned adjustments was
Rs.90,000/-. Manager is to be given 10% commission of profit.
From the above information prepare Profit and Loss Aappropriation
A/c and Partners Capital Accounts.
OR
Q.3 The firm of A and B and that of C and D agreed to amalgamate on 1- 14
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Q.4

I-11. A and B used to share profits and losses in the ratio of 6:4.
On that date the Balance Sheet of A and B stood as under:
Balance Sheet

Liabilities Amt.Rs. Assets Amt.Rs.
Capital A/c: Land & Building 3,00,000
A —3,00,000 Machinery 2,00,000
B -2,00,000 | 5,00,000 | Stock 1,00,000
General Reserve 1,00,000 | Debtors 50,000
Sundry Creditors 50,000
Total 6,50,000 Total 6,50,000

The terms of amalgamation were as under:
1. The new firm will not to take machinery of A and B firm

2. Land & Building is to be taken over at Rs. 3,20,000/-

3. Stock is to be taken over at Rs. 80,000/-

4. Bad debt reserve is to be created at 10 % on debtors.

5. Goodwill is to be valued at Rs.1,00,000/-

Prepare necessary accounts in the book of M/S A and B.

Shiv and Shankar are partners sharing Profit and losses in the ratio 14
of 3:2. On 31* December, 2010, Shankar retires. Their Balance

Sheet as on that date was as under:
Balance Sheet

Liabilities Amt.Rs. Assets Amt.Rs.
Capital Accounts: Land & Building 4,00,000
Shiv — 3,00,000 Machinery 2,00,000
Shankar —2,00,000 | 5,00,000 | Stock 1,00,000
General Reserve 2,00,000 | Debtors 80,000
Sundry Creditors 1,50,000 | Bank 1,00,000
Bank Loan 50,000 | Cash on hand 20,000
Total 9,00,000 Total 9,00,000

‘Shiv’ decided to carry on the business.

‘Shankar’ agreed to keep

his dues in business as a loan carrying interest at 10 %. Some of the
assets were revalued as follows:

Land & Building
Stock

Rs.5,00,000 Machinery
Rs. 75,000

Debtors Rs.

Rs.1,50,000
70,000

From the above particulars, prepare Profit & Loss Adjustment A/C,
Partners Capital Accounts and the Balance Sheet as on dt.1-1-2011.
OR
Radha and Meera were carrying on Business in partnership sharing 14
profit and losses in the ratio of 3:2. On the 31° December, 2010

they decided to dissolve the partnership firm. Their Balance Sheet

as on that date was as under:

Liabilities Amt.Rs. Assets Amt.Rs.
Capital Accounts: Land & Building 1,30,000
Radha - 1,40,000 Machinery 1,40,000
Meera — 1,00,000 | 2,40,000 | Stock 40,000
Loan of Radha 80,000 | Debtors 50,000
General Reserve 10,000 | Bills Receivables 80,000
Sundry Creditors 1,50,000 | Cash Balance 40,000
Total 4,80,000 Total 4,80,000

Assets realised as follows:- Land & Building-Rs.1,80,000, Stock-
Rs.20,000/-, Debtors-Rs.30,000/- and Machinery was taken over by
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Q.5

Q.5

Radha for Rs.1,50,000/-. All the liabilities were paid off in full.
From the above particulars, you have to prepare Realisation A/C,
Cash A/C and Partners Capital Accounts.

A and B are partners sharing profit and losses in the ratio of 2:1.
Trail balance sheet of the firm as on 31/3/2011 was as under:-

Particulars Debit Rs. Credit Rs.

Mr. A’s Capital & Drawing 10,000 1,60,000
Mr. B’s Capital & Drawing 5,000 80,000
Purchases and Sales 74,000 1,00,000
Purchase Returns 4,000
Sales Returns 7,000
Bank Overdraft 29,000
Opening Stock 20,000
Plant & Machinery 50,000
Land & Building 1,00,000
Furniture 20,000
Debtors 45,000
Creditors 37,000
Cash on hand 12,000
Cash in Bank 25,000
Salaries 35,000
Bad Debts 2,000
Rent, Rate & Taxes 5,000

Total 4,10,000 4,10,000

You are required to prepare Trading A/C, Profit & Loss A/C and
Balance sheet on that date by considering following adjustments:-
1 Closing stock Rs. 27,000/-
2 Depreciate Land & Building at 10 %
3Depreciate Plant & Machinery at 20 %
4 Provide 10 % bad debts reserve on debtors

OR
Lal, Bal and Pal are partners sharing profits and losses in the ratio of
3:2:1.  On 31st December, 2010 their capital accounts showed
balance of Rs.90,000/-, 45,000/- and 54,000/- respectively. On that
date creditors amounted to Rs.90,000/-. The firm was dissolved on
this day and the assets realised gradually. It was decided that the
cash realised must be distributed piecemeal as and when received.
Amount realised in thee instalments as follows:-
On 1% instalment Rs.1,08,000/-, On 2nd instalment Rs.1,20,000/-
and On 3rd and final instalment Rs.27,000/-
Prepare statement showing Piecemeal distribution of cash among
partners according to Surplus Capital Method or Maximum Loss
Method.
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